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.     AS 2.12 Probability: Overview    .
1) Interpreting risk and relative risk
Calculate and interpret risk, Select a baseline group, 
Calculate and interpret relative risk and absolute risk. 
Consider what relevant information may be missing. 
Exposure and relative risk
2) Normal Distribution (and experimental distributions)
Compare the normal distribution with experimental distributions.
Describe and compare distributions, recognise similar and different characteristics. 
Experimental probability investigation and how this could be representative of a population. 
Use the mean and standard deviation as sample statistics or as population parameters.
3) Two-way tables & Probability Trees
Calculate probabilities, using two-way tables & probability trees.
Draw a probability tree based on a concrete situation. 
Calculate simple conditional probabilities.
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Use your knowledge of probabilty to bet on whether the next card is
higher or lower than the last one.

Number of cards to guess: {18

Slngle Suit FuII Deck

The order of the cards is A (low) 234 56 78 910 J Q K (high)
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.     Probability Review    .
	P(3) = 
	P(even)=

	P(factor of 6) =
	P(multiple of 3)=

	P(prime number) =
	P(less than 5)=

	P( 6 or 7) =
	P(at least 2)=

	P(5)=
	P(not a 2)=


Experimental Probability (Same as the Relative Frequency)

As we do more and more repeats the closer this gets to the theoretical probability:




This is the Long-Run Relative Frequency

Theoretical Probability 


 
	Flip
	Result
	H's so far
	P(Head)

	1
	T
	0
	0.00

	2
	H
	1
	0.50

	3
	T
	1
	0.33

	4
	T
	1
	0.25

	5
	H
	2
	0.40

	6
	T
	2
	0.33

	7
	T
	2
	0.29

	8
	T
	2
	0.25

	9
	H
	3
	0.33

	10
	T
	3
	0.30

	11
	H
	4
	0.36

	12
	H
	5
	0.42

	13
	T
	5
	0.38

	14
	H
	6
	0.43

	15
	T
	6
	0.40

	16
	H
	7
	0.44


















































































































































P(event) =   Number of favourable outcomes


		     Total number of possible outcomes

























































































































































































P(event) = Number of times event occurs


		         Total number of trials












































Long run relative frequencies














